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(a+b+c)?=a®+b?+c3+2(ab + be + ca)
ab+bc+ca=-1
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()= (y-3x+10)+ (2y—-x)k=0
S 2y=x,y—3x=-10
Lx=4,y=2

Lx+y=6
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a( p)* +b(x- P)2+( P)

(x— p{ax p)?+b(x-p) }
(x+1)(x2 - 2x+2)
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FHE H WS, x+1=x-p,
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A 85 | 90 | 95

AFHE (%) | 209 | 155 | 10.8
17(1000 ) | 8521 | 6661 | 4851
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@® P=0.352-5.75t + 20.9

@P =0.35(t+1)2 = 5.75(t + 1) + 20.9
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x4+ 4xt + 2% =6 = (x+1)(x - 1)(x* + 5x2 + 6)
= (x+1)(x - 1)(x*> +2)(x* + 3)
La+b+c+d=5




10. oL F xt -4 - 72 + 34x - 24 2 QA5-E5) 51992 o,
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@ x-1 @ x-2 ® x+3 @x+4
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flx) = x* —4x® — 7x% + 34x — 242} 51H
71 = £(2) = 00122
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xt—4x® —7x® + 34x - 24
=(x-1)(x-2)(x*-x-12)
=(x—-1)(x—2)(x—4)(x+3)
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D)a-b @ b+c
@ a+b+c ® abe

+[b, ¢, a] + [c, a, b] 9]

® c+a

B

[a, b, ]+
=a(b? - c?) + b(c?
= ab? — ac® + bc? — ba® + ca® — cb?
=a?(c—b) —a(c* - b?) + be(c - b)
= (c - b){a® —a(c + b) + bc}

= (c=b)(a=b)(a=c)

[b, ¢, a] +[c, a, b]

—a?) + c(a® - b?)
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dojo] Ag=a, boll thote] A4 A& anb = a® —ab + >t T T,
(x?ax) + (2xax) — (xal) — 3-& A5-EfotA?

@ -+ -x+4) @ (x-2)(x+ 1) —x+4)
@ (x-1)(x+2)(x*-x+2) @ (x-1)(x+1)(x+2)2
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x2ax = x* =8 + 12
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F = -84+ +3x2-x*+x-1-3
:x4—x3+3x +x—4
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[y, %, 7] = yx? — x°z, [z, 3, x] = 2y® — y*x

. %2 + (2,3, 5] = yx* — ¥’z + 2° — y*x
= xy(x —y) — z(x* = y*)
= (x—y)(xy - yz - zx)
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14. a+b+c=09 W, 2 F242 +bc} 22 A

@ (a-¢)? @ (b+c)? @ (a+b)(b+c)
@a-ba-c) © (a-b)a+o)
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2a® 4+ bc =2a* —b(a+b) (v c=-a—-b)
= 2a* — ab - b?

= (a—b)(2a+b)

=(a-b)(a+b+a)

=(a-b)(a-c) (ma+b=—c)




